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% P Brmm= 430 | P Br.mm= 0.2
% Mp.cn= N 2 p. ca. =0cof.
Towh, = I = = Towh, = I
I15-133 I13-138
Fem? =8.234 Fem? = 0.346
=| Q=281 | L ¢ Q ke. = 0.094
= | | D on.mm= 434 % D on.mm= 12,0
P uM = 213.9 P uwM = 37.7
P Bu.mM= 81.8 P Bu.mm= 31.4
230 I'p e = /®10 rp e, =V
- Touw. = 1l Touw. = 1l
‘u7g\ [I5-134| 1 o D 113-139
f Fom? = 3.840 F et = 12,166
_ Qke. = 104 | 2 0 ke. = 3.297
o2 e S D onmm= 845 | ™ ' D on.mm= 98.0
P Hm = 303.3 P uwm = 31,7
P Brmm= 0.0 | P BH.mM= 277.6
! o [p. c1. =0cob. & [p. c1. =0cob.
36 _ 145 -
- Towh, = Tl Towh, = Tl
“ B-135 -~ % _ [B-140
Few? =16.300 1 Fem? = 3.792
o 0 ke = 4417 Q ke, = 1.028
o D on.wv=125.0| _ L D on.m=97.0
P uwM = 432.6|< P waM = 379.0
Y P Bn.mv= 157.4 A & P Bu.mm= 175.9
88 [p. cn =0cob. | y [p.cn. = VI
= - Touw. = H Toww. = Tl
Jlact 1-14
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oo |M3-141 I13-146
Fom? = 2700 1 a7 F oM? = 3.563
o Q ke = 0.732 Q k2. = 0.966
= D on.mm= 57.0 D on.MM= 56.9
/ Pumy = 2190 = P umy = 2414
2R P Bumv= 1347 P BHmu= 125.1
L [p.en. = IV p.en = V
Toww. = Tl ‘ 4 Tour. = 1l
I[15-142 35 [15-147
F e =1.576 F e = 4,068
2 0 ke = 0427 = | Qe = 1,102
Wa = D on.mm= 30.0 W = D on.mu=37.0
P umm = 146.6 T | P HMu= 954
P BH.mm= 36.0 P Br.m= 34.0
2% [p. c1. =0cob. [p.ca. =
Toww. = 1l Toww. = 1l
I113-143 ) [13-148
F et = 2.164 Fem? =1.969
= Q k. = 0.586 = Q k. = 0.533
il D on.mm= 45.0 il D onmm= 38.5
P Hmm = 1820 P Hmv = 1464
03 P BH.mv= 68.0 ! U P Bumu= 40.0
- : [p. ca. =0cob. B0 fp.cn.= VI
Toun. = Tl B - Toww. = 1l
I[15-144 f Z v II3-149
F oMt = 2755 ¢ Fout = 3799
_ Q ke. = 0.747 = Q k. = 1.030
~ D on.mm= 28.1 D on.mmu= 720
P umM = 216.4 P uwm = 282.7
P BHwm= 142.2 AL v | P Brmu= 1040
40 fp.cr =V 50 [p. ¢a. =0cob.
Toww. = 1l - - Toww. = 1l
: I13-145 _ [13-150
F e =5.088 Fem? =1.09
S Q ke = 1.379 - Q ke = 0.286
D on.mm=90.1 ~ D on.mm= 25.9
P Hmm = 360.3 P Hmv = 95.0
N P BH.mv= 180.1 v | P Brmu= 458
18 fp.en= V 15.5 p.en = IV
Toun. = Tl = = Toww. = 1l
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m [I3-151] 1
_ Fomt =2 P
= 2401 [
‘ L G
r =200 ~ -
E E.MM = 196.7 Qi: : 7
= i HMM= 93,2 D on. 3
_ TE' o=V | 1 i
qH.: MM = 231
0 n =] P Bz 89 éo
[13-152 gp. ]
(ECM2 = 3.158 | I_j[t E
) E;'M:—O'ggs1 = T
0 - . .?) F -
E g.MM = 290.3 Oi: : :
i HaM= 79.1 | D on. __0.572
qu " )¢ .MM: 42.0
> Mv = 179
! - 30.0 P B :
H3=1 ; s C.MM: 87.3
53 To:m JL: V
F em? = 6.69 =
Q ke = 1.8 ; T
DonMM"15 { aﬁ% d=158
PHQ :105.2 | | Femt =2
- Pgl'_IM: 430.3 Qzﬁ = |1 <
s Mv= 249.1 Don.M__O.m
| TOl.JHCJI'_: ! WI; P HB;MM: :
H ) )} 0 PB|'+ MM: gﬁf
0 - . - .
| - 1 64 E))q ¢, =0cob.
o =
| ) g:'M:-O'ngse o
0 - . F -
E HM = 2049 QCM : 4
- ke. = 0.418
. 105.4 I
To. 2 )¢ Mv= 35,0
o MM = 178
3 n P Bz 75 54
| : 1 55 H;ch. _=Ocoé.
] Fem? =280 i
Q ke = % o
D on.M_'O.759 5 $ 1 60
Do 83| | iklES
P B. M= 2138 ' 7| ns : 4
Hav= 10 o
13 [p. ca. = \/1'1 B - &
e : , PE.MM = 163.7
i HMM=
o 8.5
To;m . _:0co6.
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40.0

[13-161

Fem? = 1.543
Q ke = 0.418
D on.mm= 41.0
P umv = 1494
P BH.mv= 8/.2
fp. e = W
Touh, = Tl

26.1
S

[13-166

Fem? =1.589
Q k2. = 0.431
D on.mm= 34.4
P umyv = 138.0
P BH.mv= 61.0
p.cr =V
Tou, = Tl

40.4

[13-162

Fcm? = 2,106
Q k2. = 0.571
D on.mm= 44.0
P uam = 197.0
P BH.uM= 68.0
[p.cn =V
Toww. = 1l

36.4

[13-167

Fcm? = 1.988
Q k2. = 0539
D on.mm= 41.0
P umm = 180.0
P BH.uM= 68.0
fp.en= V
Toww. = 1l

21.6

28.4

[13-163

Fem? =1.572
Q ke = 0.426
D on.mm= 35.0
P Hmv = 144.0
P Bu.mv= 59.0
p.cr =V
Touh. = Tl

26.1

o

46.5

A

Y

[13-164

Fom? = 2,343
Q k2. = 0.635
D on.mM= 32.6
P umm = 189.0
P BH.mm= 106.0
p.cr =V
Toww. = 1l

21.6

46.5

113-165

Fem? = 2,151
Q k2. = 0,583
D on.mm= 50.7
P v = 180.0
P Bu.mv= 95.0
[p.cn =V
Touh. = Tl

JTHer
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